e Ty uj
e R .}‘Hité’_ s

Gareii g g3 2o
POWERED BY[|W, 575 MAX OVERALL R S N LR
_‘ FRAME WIDTH S f iGH Cley oB 2T
ﬁl""! n .’g? o 4 N % 2] (29 1
gc’i iuic B “g w2y A
auly izid EIXFIN]c it 2>

ALy 58 OF o o
. G, 9T & T co 53
&“"ﬂ. :: 2 o \ > '._-l = [+] EF
DOOR COMPONENTS MADE IN THE USA U S el T 3% fe
B~ i ® Zow &b
/ Ve 8].. gg
o gz° L E
/ £Zh, O
// £80 Ob
/ 508 fuw
/ Dan g’g
o
g%
[$]

Glazed Fiberglass Door

"NON-IMPACT"

Documents Prepared By

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4910,13.dwg

g 2
s 5
2 3 ”
INSWING / OUTSWING = % zi
&= Q B =
® B <
s ¥ =&
g £ X s |. 8z
< < R EEN
S < © 5 g a
% % 2 I
2 = = x| S3
’5{ in g o % &
NS S B £
o ~ Iia g o
o~ [+ R n.
/ e
EVALUATED FOR USE IN THE STATE OF TEXAS TD' D R - 1 O 2 1 // W
The Fiberglass Door system described herein complies with the 2018 Inferational / §
Residential Code (IRC), Sections R301 & R60% and the 2018 International Building o
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following %
conditions: 8 2
1. Anchors shall be as listed and spaced as shown in the details. Anchor © 3
embedment to base material shall be beyond wall dressing or stucco. ‘é >
2. When used in areas requiring wind-borne debris protection this product is o |
required to be protected with an impact resistant covering that complies :
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. =
3. Allowable design pressure requirements must be equal to or less than the @
design pressure rating shown in the design pressure chart, sheet 1 of this =
4. drawing. g Ll
Conditions not covered by this drawing are subject o further engineering (E
analyss. —— e -
TABLE OF CONTENTS — — 2
sEEe | DESCRIPTON X FLUSH GLAZED INSWING +50.0 -50.0 Dszz : 11 ﬁBT/ s1 8
1 Typical elevafions, design pressures & general notes . S
5 Door panel detai (fiush glazing) X FLUSH GLAZED | OUTSWING +45.0 -45.0 owe. BY:  MT
3 Horizontal cross sections CHK. BY: LFS
4 Vertical cross sections DRAWING NO.:
5 Frame anchoring TX—4913

sHEer 1 oF 5

© zo18 R.W. BUILDING BONSULTANTS INC,



INTERIOR

STILE CAP

(PVC)

WOOD STILE

35.75" MAX.

PANEL WIDTH

26.25" MAX

D.L.O. WIDTH

95.25"' MAX. DOOR
PANEL HEIGHT
78.0" MAX
D.L.O. HEIGHT

>

PLASTPRO
Flushglazed
(Fiberglass)

&b

EXTERIOR

1.2

/.
4

STEEL REINFORCEMENT
0.094" THICK

/"1 "\ HORIZONTAL CROSS SECTION

\2/

1/2" GLASS
BITE

INTERIOR

EXTERIOR

Gl

1/

—  5/8" NOMINAL GLASS THK.

1/8" TEMPERED GLASS

AR SPACE

~P~—1/8" TEMPERED GLASS

SILICONE GLAZING

COMPOUND

GLAZING DETAIL

Flush Glazing

SO i
: ST dn
[+ ] P~ » : £
TOP RAIL = S i1 4% "
- SR IZ T EE o BN
(PVC)\ Foe it NN Ex @ Ha
< e 0im ‘1S .9 zZr
' e ih iy Widi ¢8 &7
‘ gui R \|, .o 2 z)
‘ et DR N e
I;’ H : 1O \ < 3 - AT
Aty 1L i s 0o X
IO HoR! ° 60 3%
EENF- S0 AR = tin 20
: U i 5 5%8 ak
: NI LEAC 79 4 © gt 584
R i S -0 f
Y/ A My E§3® o9
/4 Toonder® & On- EQ
g [
0 xz
/. 3 28, b
s IR
R & oo gg
FOAM CORE o § @
PN 2 £
(POLYURETHANE ) i £ E
E @ 8
, ]
8
ok
<o
L=
// oN
/4 2 5
)
> > Lo
S ]
(i & o%
INTERIOR EXTERIOR 7] I
- - < %
T ] &
§ )
S &
& x
B

0.090" FIBERGLASS

1.18"

SKIN
I/
,7
BOTTOM RAIL A
(PVC)

/72 \ VERTICAL CROSS SECTION

2/

REVISIONS

11/10/21|UPDATE TO 2018 IBC/IRC CODE

NOJ DATE

1

DATE: 11/8/18

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4913

SHEET _2 OF _5

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-49150\C - Drawings\TX-4910,13.dwg

© 2018 R.W. BUILDING DONSULTANTS INC.



7:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4910,13.dwg

EXT. SHEATHING \ )

92X FRAMING
< (G>=042)

o / DRYWALL

174" MAX.

SHIMSPACE  ~__fflll

© L #10X25"PFH
-] wooD screw

DOOR PANEL —\

0.15"
C'SINK
(TYP.)

\* HEAD

ENDURA WEATHERSTRIP

yi

EXTERIOR W

INTERIOR

(QEBD/PE 650)

/ 2"\ VERTICAL CROSS SECTION

w Outswing shown - inswing also approved

174" MAX. o5
SHIM SPACE NN
EXT. SHEATHING (TYP.)
92X FRAMING e

(G>=0.42) \

L, JAMB

@_L-

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

N

DRYWALL /

#8 X 2.5" PFH WOOD SCREW /

#8 X 3/4" PFH SMS

\7 #8 X 1" PFH SMS

4"HINGE

(QEBD/PE 650)
EXTERIOR

b
|
|
©
®-
|
b q

(980/985)

(991)

CORNER PADS (TYP.)

/

(A3 N2

N4/ LN 174 MAX.
- SHIMSPACE 1 SHEATHING
C'SINK ——

i \

#10 X 2.5" PFH WOOD SCREW N\ ~

ENDURA WEATHERSTRIP
(QEBD/PE 650)

P
,3"“4,;'?55“:
" .

i

ot

Ty ettt
.

. .

o 14

H

> -

»
.
»
*
.

sreony

as

LSRN,

7

SAN IS
.:9&/?(","

*
s

\i;

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

DEADBOLT: KWIKSET SIGNATURE SERIES

A4
i LATCH: KWIKSET SIGNATURE SERIES

““““

JAMB TN

A\

2X FRAMING
/ (G >=0.42)

INTERIOR

71"\ HORIZONTAL CROSS SECTION

\:_3/ inswing shown - Qutswing also approved

\‘ DRYWALL

#8 X 2-1/2" PFH WS
LATCH STRIKE PLATE

P.0. Box 230 Valrico Fl. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—-11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

11/10/21{UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

NOJ DATE

oatE: 11/8/18

SCALE:  N.T.S.

DwWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4913

SHEET 3 oF _ 5

© 2018 R.W. BUILDING CONSULTANTS iNe.




V ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4910,13.dwg

\\

INTERIOR

\\
EXTERIOR INTERIOR /(
DOOR PANEL
e DOOR PANEL
ENDURA \
DOOR SWEEP ENDURA
(DBK-R) DOOR SWEEP
/ {DBK-ZAC) A
lr'
i N
=
(’\ O ——

EXTERIOR
ENDURA

WEATHERSTRIP
(QEBD/PE 650)

10233)

g i

~ =

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

W Inswing Adjustable Thresheld

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

[
&
&,
oot

i
(0
st
_ B DOOR PANEL T
INTERIOR EXTERIOR 191
ENDURA X P
WEATHERSTRIP,  INTERIOR : it
(QEBD/PE 650) 2 Do, Q
oy ..5 2 s
PANEL

Lyndon F. Séhmidt, P.E.
TEXAS P.E. #104123

W Inswing Articulating Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

! 4.56" [

1 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

\4/ Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

m VERTICAL CROSS SECTION

W Outswing Bump Threshold

4.56" !

! I

) | i | L_] | |
4.56 1 i 4.56" i i 4.56" ot | | 4.56“ !
INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS

] MAX. DESIGN PRESSURE = £40 PSF

|
9

P.0. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

456" 4.5¢" 1 ! 4.54" !
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 IACL4565 7 IACA565FN IACLAA4565 IACAA4565FN IAC4565RDS
| MAX. DESIGN PRESSURE = +35 PSF [
J
: m
A
! 4.56" l 4.56" —— ! 454" ! ! \ 456" 7!
1 QUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OQUTSWING THRESHOLD 14 OQUTSWING THRESHOLD
1OBL4565 1OB4545FN 10OB4565RDS FOB4566

12]
=
Q
S
jvy]
w
® 2
2 |H¢e
2 o &
CEE
2 2
S
i © 'g:
3 S| W
Q b
& e
. oo
s
Ly
[
O
(&)
O
&
S o
o |z
O
o In
S &
(18
o
I
(=]
[+
D
N
>\
Sl=
NS
~lo
=z
oae: 11/8/18
SCALE:  N.T.S.
DWG. BY: MT
CHK. BY: LFS
DRAWING NO.:
TX-4913

sHEET 4 oF 5

@ 2018 R.W. BUILDING DONSULTANTS INC.



* 7AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4910,13.dwg

s o 2X framing (by others) & o
o8 % £x 0
Eod | 32 o B8
308 6 z, §> B ZT
AP o ot 5 hu Gl BT
s Q (TYP.) gu s za,\ Zd
; ] ;2
‘ _i ‘6 § 0@ 3*
T - oY b Sa 33
T |~ SEEHINGE I P 3" 5g8 gg
- DETAIL 1 v oo
iy " f g§8e o4
: #10 X 2.5" PFH & o~y EQ
5 WOOD SCREW || . & iy 3 287 s,
8 | (TYP. @ HEAD = s 2z g 9 %8 .°
1 AND JAMBS) gn_g £ 3ok zk
. ~ =006 oF
8 \ o oy
3 ~ z S : 28
\ ° :
i\l L
= B T /
[ee]
B SEE HINGE ©
DETAIL 2 \il £
-l ( O
. | SEE STRIKE / Al &= £ |43
. DETAIL w0 S |2 =
ig :
- 8 & O . 4 g
EB. 5 I o 'cBS &
I [¢} E
- %A& - - :
ol
5im
#10 X 2.5" PFH WOOD SCREW
HINGE JAMB ) . STRIKE JAMB W W
FRAME ANCHORING 1/4"X 2-3/4' DeWALT OR D \ 8
X ITW CONCRETE SCREW ANS| DEADBOLT o
(TYP @ SILL) STRIKE PLATE &
FLOOR SUBSTRATE MATERIAL (TYP.) | b 0
CONCRETE (MIN. 3000 PSI) #10 X 3' PFH WS (4) e o =
WOOD (G >=0.42) - 2 @
(]
S| @
(] [ved
#8 X 2-1/2" PFHWS (2) e
1 LATCH STRIKE "
CONCRETE ANCHOR NOTES: PLATE S
1. Concrete anchor locations at the corners may be adjusted fo mainiain the min. 3
edge distance to mortar joints. STRIKE DETAIL N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to = E
maintain the min. edge distance to mortar joints, additional concrete anchors )
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" PFH WS . b
3. Concrete anchor table: / / | #8X2-1/2" PFH WS -2
- é:‘ i ¢ e paTE: 11/8/18
1 5¢ #8X 1"PFHWS &= ] . " " b~ H® SCALE:  N.T.S.
’Tw " " . " 4 X 4 HlNGE S 4" X 4" H'NGE CHK BY. LFS
TAPCON® 1/4 1-3/4 21/ 3 A \ DRA\'NING. N
A\} 0.2
DeWALT " TX~4913
® L - " n
uLTRACONE|  1/4 1-3/ 1 3 HINGE DETAIL 1 HINGE DETAIL 2

SHEET _ 5 oF 5

@ 2018 R.W. BUILDING DONSULTANTS ING.



